PEMSA CABLE MANAGEMENT, S.A.

C/Galileo Galilei, 22-24 P. E. La Garena D emsa
28806 ALCALA DE HENARES. Madrid.

Phone: +34 91 802 3488

www.pemsa-rejiband.com
info@pemsa-rejiband.com

DECLARACION DE CONFORMIDAD UE
EU DECLARATION OF CONFORMITY

C€

Declara que el producto / Declares that the product:

PEMSA CABLE MANAGEMENT

Fijacion 60x60-2, Kit fijacién 60x 60-2 M 6x18 CU / Part Clamp 60x60-2

cuyas referencias estan listadas en el Anexo 1 de esta declaraciéon, instalado de acuerdo con las
instrucciones del fabricante y las normas de instalacién, cumple con los requisitos esenciales de la Directiva
Europea:

which references are listed in the Annex 1 of this declaration, installed in accordance with the manufacturer’s
instructions and installation standards, complies with the essential requirements of the European Directive:

2014/35/UE (Directiva de Baja Tensién)/
2014/35/UE (Low Voltage Directive)

Conforme con los requisitos de las siguientes normas:
In conformity with requirements of the following standards:

EN 61537 CABLE MANAGEMENT, CABLE TRAY SYSTEMS AND CABLE LADDER
SYSTEMS

Esta declaracién se expide bajo la exclusiva responsabilidad del fabricante
This declaration is issued under the sole responsibility of the manufacturer

Ernesto Chenol Mora
Offer Development, Quality and Market Director.

Document: UE W _FIJ 2
Version: 01 i
Date: 29/09/2022 Pag.1/2


http://www.pemsa-rejiband.com/
mailto:info@pemsa-rejiband.com

PEMSA CABLE MANAGEMENT, S.A.
C/Galileo Galilei, 22-24 P. E. La Garena

28806 ALCALA DE HENARES. Madrid.
Phone: +34 91 802 3488
www.pemsa-rejiband.com

info@pemsa-rejiband.com

npemsa

DECLARACION DE CONFORMIDAD UE
EU DECLARATION OF CONFORMITY

Anexo 1/
Annex 1

Referencia / Reference Denominacion Designation

64010058 Kit fijacién 60x 60-2 M 6x18 EZ Part clamp kit 60x60-2 M6x18 EZ
64020058 Kit fijaciéon 60x 60-2 M 6x18 BYCRO Part clamp kit 60x60-2 M6x18 BYCRO
64030058 Kit fijacion 60x 60-2 M 6x18 GC Part clamp kit 60x60-2 M6x18 GC
64060058 Kit fijacion 60x 60-2 M 6x18 1316L Part clamp kit 60x60-2 M6x18 1316L
64080058 Kit fijacién 60x 60-2 M 6x18 BK8 Part clamp kit 60x60-2 M6x18 BK8
82003261 Kit fijacién 60x 60-2 M 6x18 CU Part clamp kit 60x60-2 M6x18 CU

Document: UE W _FIJ 2

Version: 01

Date: 29/09/2022

Pag.2/2


http://www.pemsa-rejiband.com/
mailto:info@pemsa-rejiband.com

